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55 3 3 BT f ik E FGABR R il B S A% (SR RIIE)
D% pfti % /L — b (221A)

DEras) XA (BR2EAH 1A O ATBESABIHET) ICFEEWET) LEEEUIFEEWET)
T o RABOFE, TR (TAMEE (GT24E3H31H) ETIZHREET) LIEETH D,

(ZBrE 10 ANLL ]
Sy = " ___
TRER| OB Ak | ZRER| AR B OkER | ZRER| OBER| SR
fo] L 2= Ak B P AR 53 53| 100.0 53 53| 100.0 0 0 0.0
HALSCBOR PR R 7 33 33 100.0 33 33| 100.0 0 0 0.0
o] Uk ST R S R 7 32 32| 100.0 32 32| 100.0 0 0 0.0
FHRERRAED L Y (g LR 28 28| 100.0 28 28| 100.0 0 0 0.0
KA LR 24 24| 100.0 24 24| 100.0 0 0 0.0
B AR L R P A 23 23| 100.0 23 23| 100.0 0 0 0.0
£ 2R R T 22 22 100.0 22 22 100.0 0 0 0.0
PRZR) | SR AL B P 2 21 21| 100.0 21 21| 100.0 0 0 0.0
(=P NS 21 21 100.0 20 20[ 100.0 1 1| 100.0
BN ENES 21 21| 100.0 21 21| 100.0 0 0 0.0
A ARk B B R 20 20 100.0 20 20[ 100.0 0 0 0.0
7 IR KA LR 7 19 19| 100.0 18 18| 100.0 1 1| 100.0
S| SER S R NES 19 19| 100.0 19 19| 100.0 0 0 0.0
iR SN2 18 18| 100.0 18 18| 100.0 0 0 0.0
F 3R AR 18 18| 100.0 18 18| 100.0 0 0 0.0
I E TR PN 18 18| 100.0 18 18| 100.0 0 0 0.0
At o] (2= B R AL B P AR 18 18| 100.0 18 18| 100.0 0 0 0.0
HERS R AR P B R 0 17 17| 100.0 17 17| 100.0 0 0 0.0
0 A RN T R 17 17| 100.0 17 17| 100.0 0 0 0.0
WIERY: 17 17| 100.0 16 16| 100.0 1 1| 100.0
B H R 16 16| 100.0 16 16| 100.0 0 0 0.0
HAtES R 16 16| 100.0 16 16| 100.0 0 0 0.0
YMCAKF R AL 7L 16 16| 100.0 16 16| 100.0 0 0 0.0
i AT AR AL B P A 15 15| 100.0 15 15| 100.0 0 0 0.0
FUWNEHEZ LB AEE T2 15 15| 100.0 15 15| 100.0 0 0 0.0
R A AL E AL - PR B KA (FE @A) 15 15 100.0 15 15 100.0 0 0 0.0
N =T AL v B L R 2 15 15| 100.0 15 15| 100.0 0 0 0.0
FOSR BT R 14 14| 100.0 14 14| 100.0 0 0 0.0

(1~281%)
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TRER| OB AR | ZREK| AEK| AR | ZHRER| ARER| Ak
JEE I I R PR A A B P AR 14 14| 100.0 14 14| 100.0 0 0 0.0
AR TR B P AL (S BB 14 14| 100.0 14 14| 100.0 0 0 0.0
A R 14 14| 100.0 14 14| 100.0 0 0 0.0
IR AR L Y BT R P A 14 14| 100.0 14 14| 100.0 0 0 0.0
AL PRt R BT AR 14 14| 100.0 14 14| 100.0 0 0 0.0
R B AR AR R PR 14 14| 100.0 14 14| 100.0 0 0 0.0
e BNTRR AR AE R P LR 14 14| 100.0 14 14| 100.0 0 0 0.0
RIRFEFLAH B EF LR T B RSB 13 13| 100.0 13 13| 100.0 0 0 0.0
TR IR AR AR 13 13| 100.0 13 13| 100.0 0 0 0.0
TERE (L B R B AR P 13 13| 100.0 13 13| 100.0 0 0 0.0
SR BER 13 13| 100.0 13 13| 100.0 0 0 0.0
R R O 6 A Ak B P s T A 12 12| 100.0 12 12| 100.0 0 0 0.0
FRZR) IR ST PR AR AR R 7 12 12| 100.0 12 12| 100.0 0 0 0.0
e IR/ Ll 2 12 12| 100.0 12 12| 100.0 0 0 0.0
HLIAL IR K 12 12| 100.0 12 12| 100.0 0 0 0.0
A R AL & B Ly 11 11| 100.0 11 11| 100.0 0 0 0.0
) IRF 125 9 S 1 K 77 11 11| 100.0 11 11| 100.0 0 0 0.0
S PN 11 11| 100.0 11 11| 100.0 0 0 0.0
T R AL B P A 11 11| 100.0 11 11| 100.0 0 0 0.0
FAAR [ A R R P A 11 11| 100.0 11 11| 100.0 0 0 0.0
HEBAKRY 11 11| 100.0 11 11| 100.0 0 0 0.0
DY MIC A [ 5 22 P B P 224 10 10| 100.0 10 10{ 100.0 0 0 0.0
R B R R A K 7 10 10| 100.0 10 10| 100.0 0 0 0.0
EBEE R E H PR 10 10| 100.0 10 10| 100.0 0 0 0.0
I VANT 7— KT 10 10| 100.0 10 10| 100.0 0 0 0.0
FEF R G R AR 10 10| 100.0 10 10| 100.0 0 0 0.0
P AR AR P 2P 10 10| 100.0 9 9| 100.0 1 1| 100.0
IS NS 10 10| 100.0 10 10| 100.0 0 0 0.0
A A AR T 1 A R R PR AR 42 41| 97.6 41 41| 100.0 1 0 0.0
[EIESE N 35 34| 971 33 33| 100.0 2 1| 50.0
B AR 7 B 34 33| 97.1 30 30| 100.0 4 3 75.0
T VT 7 EREAEAL R AL 31 30  96.8 31 30  96.8 0 0 0.0

(29~601%)
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TRER| OB AR | ZREK| AEK| AR | ZHRER| ARER| Ak
WA HER T 25 24| 96.0 25 24| 96.0 0 0 0.0
LR 2 9 Bl T A A R P A 23 22 95.7 22 22 100.0 1 0 0.0
R B B 8l T A AL B P A 22 21| 95.5 21 21| 100.0 1 0 0.0
PN e e R L s R 21 20| 95.2 21 20/ 95.2 0 0 0.0
B A BEE TP (F— S b - T ) 21 20| 95.2 19 19| 100.0 2 1| 50.0
4 i R PR AR AL R AR 20 19| 95.0 20 19| 95.0 0 0 0.0
KB E B AL R P AR 19 18|  94.7 18 18| 100.0 1 0 0.0
e IR AT N LI 19 18|  94.7 18 18| 100.0 1 0 0.0
IGL R AR AL P A 18 17| 94.4 17 16|  94.1 1 1| 100.0
IR R R 18 17| 94.4 17 17| 100.0 1 0 0.0
FH J5 T 37 P D A B P A 18 17| 94.4 18 17| 94.4 0 0 0.0
SIS R P A 17 16|  94.1 16 16| 100.0 1 0 0.0
UL VS5 A B P 2 7 |36 7 S 2 16 15  93.8 16 15| 93.8 0 0 0.0
TR PRSP 22 BRI (— LT — A — ) 16 15 93.8 15 15| 100.0 1 0 0.0
D0 ] A A 4 3 16 15 93.8 14 14| 100.0 2 1| 50.0
R PR AR T 28 26/ 92.9 26 26| 100.0 2 0 0.0
TAARFLI R 7 (T A7) 28 26/ 92.9 28 26| 92.9 0 0 0.0
T — VIR RS AL P AR 14 13| 92.9 13 13| 100.0 1 0 0.0
NN EETNES 14 13| 92.9 12 11| 91.7 2 2| 100.0
VLR = <7 R A R 570 14 13| 92.9 13 12| 923 1 1| 100.0
RS RE T AR 14 13| 92.9 13 13| 100.0 1 0 0.0
JEE I 5 [EI B R 13 12| 92.3 12 11| 91.7 1 1| 100.0
R B B R AL T P 2 (R AR 13 12| 92.3 13 12| 92.3 0 0 0.0
" B e R 25 23| 92.0 24 23| 95.8 1 0 0.0
UNE D E R AR P AR 37 34/ 91.9 32 32| 100.0 5 2| 40.0
Lo i a3 A 12 11| 91.7 11 11| 100.0 1 0 0.0
HOREAER T 12 11|  91.7 12 11| 91.7 0 0 0.0
CINEIE=Y SR fvNe T 58 i it 23 21| 91.3 20 19]  95.0 3 2| 66.7
BAVE A AR AL e 33 30[  90.9 31 30 96.8 2 0 0.0
FOEE R AR 22 20[  90.9 21 20  95.2 1 0 0.0
A E AR P R 22 20[  90.9 22 20[  90.9 0 0 0.0
JE R R R 11 10 90.9 10 10| 100.0 1 0 0.0

(61~924%)




F AR — Mé{ — %ﬁi —— %i

TRER| OB AR | ZREK| AEK| AR | ZHRER| ARER| Ak
IR RE I TR S R A FEHE AL ( 15 R P 24 FPRF 11 10 90.9 11 10 90.9 0 0 0.0
o] o 9E R RN = 11 10| 90.9 9 9| 100.0 2 1| 50.0
EERFR R 11 10 90.9 11 10/ 90.9 0 0 0.0
WEAS T AL B A 21 19|  90.5 21 19|  90.5 0 0 0.0
R~ — R AR AL P AR 41 371 90.2 40 36| 90.0 1 1| 100.0
RINE R P FAL 10 9] 90.0 10 9] 90.0 0 0 0.0
RELA KT 10 9  90.0 10 9  90.0 0 0 0.0
KIFHRE BRI T AL AR AL 10 9] 90.0 10 9]  90.0 0 0 0.0
JUM RS IR (R RHE AL ) 10 9] 90.0 10 9]  90.0 0 0 0.0
R ZE® « IR - ST B 10 9] 90.0 8 8| 100.0 2 1| 50.0
VAWRLES 7 NE = 7 NS 10 9] 90.0 10 9]  90.0 0 0 0.0
15 INAR— 7 [ A AL B P A 29 26|  89.7 23 23| 100.0 6 3| 50.0
PSR HE A - 1 R (R R 19 17 89.5 19 17 89.5 0 0 0.0
MHRU AT — S a @k F e 28 25| 89.3 24 24| 100.0 4 1| 25.0
7 AL R A 28 25| 89.3 25 23| 92.0 3 2| 66.7
ALEE ST R LR 18 16| 88.9 16 16| 100.0 2 0 0.0
Pt ot BE L SRR AL B A 35 31| 88.6 32 31| 96.9 3 0 0.0
PV AL R P AR 26 23|  88.5 25 22| 88.0 1 1| 100.0
& B AR MR R A 26 23|  88.5 23 22| 95.7 3 1| 333
[R5 17 15| 88.2 14 12|  85.7 3 3| 100.0
THH P [ A R R AR 32 28| 87.5 30 26| 86.7 2 2| 100.0
JR s AL P A (T @A) 24 21| 875 21 21| 100.0 3 0 0.0
TR P AR 16 14| 87.5 15 14|  93.3 1 0 0.0
R B R A 1 P 78 (et ) 16 14| 875 15 14| 93.3 1 0 0.0
HUTUE AL B oA (et R 34 ) 31 27| 87.1 28 27| 96.4 3 0 0.0
AR S NE Y TR N i 68 59| 86.8 67 58| 86.6 1 1| 100.0
TR A6 ik S P2 R B 2 (O S ) 15 13| 86.7 14 13 92.9 1 0 0.0
EERE PSR i PNE 2 15 13| 86.7 13 13| 100.0 2 0 0.0
FINEH K 15 13| 86.7 13 13| 100.0 2 0 0.0
KB PR A fE =P A% 58 50 86.2 47 45| 95.7 11 5/ 45.5
o 5 PR A AL B P A e 29 25|  86.2 26 25| 96.2 3 0 0.0
ik VNS 21 18| 85.7 20 18] 90.0 1 0 0.0

(93~1241%)
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TRER| OB AR | ZREK| AEK| AR | ZHRER| ARER| Ak

FEESYMCAE B AL R P 7 21 18|  85.7 19 18| 94.7 2 0 0.0
B2 K% 14 12|  85.7 13 11| 84.6 1 1| 100.0
il BE AR AL R AR 40 34|  85.0 38 34|  89.5 2 0 0.0
R B A Ak B P A KB e 20 17| 85.0 18 17| 94.4 2 0 0.0
BB R AR 45 38| 84.4 42 38|  90.5 3 0 0.0
R R B 1L E P AR 38 32| 84.2 31 30 96.8 7 2| 28.6
BRI O 2R 19 16| 84.2 16 14| 875 3 2| 66.7
H S R A R R AR 19 16| 84.2 17 16|  94.1 2 0 0.0
BTN SN FNEY TR L P NE 18 15 83.3 15 13|  86.7 3 2| 66.7
SRR 12 10 83.3 11 9| 81.8 1 1| 100.0
IR T 7 I — B P A 12 10| 83.3 10 10| 100.0 2 0 0.0
SRR SE ipNES 12 10| 83.3 11 9| 81.8 1 1| 100.0
R e R 17 14|  82.4 15 14| 93.3 2 0 0.0
JERRE Y R AR AL R AR 17 14| 82.4 16 14| 875 1 0 0.0
FLRG FH A RC AR AL B P AR 17 14| 82.4 17 14| 82.4 0 0 0.0
BT ) AR 39 32| 82.1 36 31|  86.1 3 1| 33.3
YICH AR A% 22 18| 81.8 21 18|  85.7 1 0 0.0
At A [ I b B P A 11 9| 81.8 10 9 90.0 1 0 0.0
LAHADAFR 11 9] 81.8 10 9]  90.0 1 0 0.0
= BRI 11 9| 81.8 9 9| 100.0 2 0 0.0
<HLEH AL R 27 22| 81.5 22 18| 81.8 5 4| 80.0
(O PNas = P NE SR i NE =1 16 13|  81.3 14 12|  85.7 2 1| 50.0
21 17| 81.0 21 17| 81.0 0 0 0.0

HOR [E B AR T AR 20 16|  80.0 18 15| 83.3 2 1| 50.0
L AR AR 15 12| 80.0 12 11| 91.7 3 1| 333
IR A R 15 12| 80.0 12 12| 100.0 3 0 0.0
U ] 2 8 R B P A 10 8|  80.0 8 8| 100.0 2 0 0.0
B AN 77— K e LR P 2 29 23| 79.3 24 23| 95.8 5 0 0.0
AT SR = SR R B P AR 24 19 79.2 23 19| 82.6 1 0 0.0
HT AR AR B S 42 33|  78.6 39 32 82.1 3 1| 33.3
JUNF I AT — a2 28 22|  78.6 25 21|  84.0 3 1| 333
) AR P A 28 22|  78.6 28 22|  178.6 0 0 0.0

(125~1564%)




R R T "

TRER| OB AR | ZREK| AEK| AR | ZHRER| ARER| Ak
A RAE R R P 2 14 11| 78.6 12 11| 917 2 0 0.0
FES AL SRR AR 14 11| 78.6 11 10| 90.9 3 1| 333
B AL LS R Y 2 (SRR 14 11| 78.6 12 10|  83.3 2 1| 50.0
B W PR B U R P AR 14 11| 78.6 12 11| 91.7 2 0 0.0
BER A BB HEECE H AL 22 17| 77.3 18 16|  88.9 4 1| 25.0
R AR AR R P AR 39 30 76.9 33 28| 84.8 6 2| 33.3
H: A8 Ak B P A 17 13| 76.5 16 13| 813 1 0 0.0
IR ERZ &S B 25 19 76.0 21 18| 85.7 4 1| 25.0
T i) PR AR LA — Y B AR 33 25| 75.8 29 24| 82.8 4 1| 25.0
FORXYMCA AR AL P A5 37 28| 75.7 37 28| 75.7 0 0 0.0
B LR R 24 18|  75.0 23 18| 78.3 1 0 0.0
AR AR AL P A 20 15| 75.0 17 14| 824 3 1| 333
JEB I I R AR AT o P A 16 12| 75.0 11 10| 90.9 5 2| 40.0
U AR AL P AR 12 9| 175.0 9 9| 100.0 3 0 0.0
AL ST R R P AR 12 9|  75.0 10 9]  90.0 2 0 0.0
e [ I R A R R P A 12 9| 175.0 10 7| 70.0 2 2| 100.0
HUAR KK AR R B B AR 51 38|  74.5 49 37| 75.5 2 1| 50.0
a3 VSR ipNES 19 14|  73.7 17 13| 76.5 2 1| 50.0
B EARALORE R P A 45 33 73.3 45 33 73.3 0 0 0.0
Al R R R 30 22| 73.3 28 21| 75.0 2 1| 50.0
DA AUTRREAERE P A% 22 16| 72.7 19 16| 84.2 3 0 0.0
HOR IR AL T 11 8| 72.7 10 8| 80.0 1 0 0.0
R AL SR (s ta 2R 46 331 717 40 30| 75.0 6 3] 50.0
N =T AT IR R B AL R 25 42 30 71.4 35 27 771 7 3| 429
PP E AR R 14 10| 71.4 10 71 70.0 4 3| 75.0
il B R kB P AR 20 14| 70.0 18 14| 778 2 0 0.0
S EIERAEE P AR 20 14| 70.0 17 13| 76.5 3 1| 333
RERERALR B H MR 33 23| 69.7 31 23| 74.2 2 0 0.0
A (5] AT 7o K 26 18] 69.2 18 15| 83.3 8 3| 375
T BEIAE AL PR AR 16 11| 68.8 15 10|  66.7 1 1| 100.0
TS R AL P AR 19 13| 68.4 17 12| 70.6 2 1| 50.0
i I [E] B bk B FH AR 22 15| 68.2 21 15| 71.4 1 0 0.0

(157~188%%)
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TRER| OB AR | ZREK| AEK| AR | ZHRER| ARER| Ak
S [ A R R P AR 15 10| 66.7 15 10|  66.7 0 0 0.0
EIR= T Loy 12 8| 66.7 12 8| 66.7 0 0 0.0
[EpRL PNES SR PNE 35 23| 65.7 29 19|  65.5 6 4| 66.7
FAR LY MCA E Btk B 25 35 23| 65.7 30 22| 73.3 5 1l 20.0
HRU B R 20 13| 65.0 18 11|  61.1 2 2| 100.0
RIRR B AL P AL 17 11| 64.7 12 9| 75.0 5 2| 40.0
B 48 il B P A 48 31|  64.6 43 29|  67.4 5 2| 40.0
RS AR LR T R AR 28 18|  64.3 28 18|  64.3 0 0 0.0
KIF A3 1 bk P AR AR 14 9| 64.3 10 9  90.0 4 0 0.0
AWEYIIEESESPEb Syt s3I A I = 66 42| 63.6 56 371 66.1 10 5| 50.0
SEfif) 1 3 Ak B P A 27 17| 63.0 24 16|  66.7 3 1| 333
AR L Fe R} 25 P 22 A 24 15|  62.5 20 14| 70.0 4 1| 25.0
KRR [ A i B 25 s i 52 16 10[  62.5 16 10|  62.5 0 0 0.0
AR AEOR T P AR 16 10| 62.5 16 10| 62,5 0 0 0.0
DL ] = i e AL B P A 16 10|  62.5 11 7| 63.6 5 3] 60.0
RN [ B PR AL B P AR 29 18 62.1 24 17| 70.8 5 1| 20.0
B AR i RE R R I L o 29 18] 62.1 28 18|  64.3 1 0 0.0
Z AR R RN 34 21|  61.8 31 21| 67.7 3 0 0.0
R AL R P A 47 29|  61.7 37 28| 75.7 10 1l 10.0
IR EALER L Y 10 6| 60.0 10 6| 60.0 0 0 0.0
R IIPNE S SR 1 NE | 22 13| 59.1 19 11| 57.9 3 2| 66.7
BAVE R B @ AL R AR 33 19| 57.6 26 17| 65.4 7 2| 28.6
At He PR R TRt A B P A 32 18| 56.3 31 17| 54.8 1 1| 100.0
ARV T — 3 a f@ k2 28 15| 53.6 24 14|  58.3 4 1| 25.0
ZZABEFRAE AR P A 43 23|  53.5 38 23| 60.5 5 0 0.0
YMCA i FEtE AL P A% 32 17| 53.1 21 14|  66.7 11 3| 27.3
RS /N — 2R AR P A 21 11| 52.4 19 11| 57.9 2 0 0.0
R LR B R BT AR 21 11| 52.4 19 11| 57.9 2 0 0.0
AbEE AL 2BCE P R 18 9]  50.0 17 8| 47.1 1 1| 100.0
UM KRB R R (fE k2 F) 12 6| 50.0 8 6| 75.0 4 0 0.0
HEH S e =T IR AR A 29 14| 48.3 26 14| 53.8 3 0 0.0
HERY MCAE B Ak B 2 17 8|  47.1 16 8|  50.0 1 0 0.0

(189~220%%)
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TRER| OB AR | ZREK| AEK| AR | ZHRER| ARER| Ak
R I 4 A Al 8 P A A A FE A 32 15| 46.9 31 15|  48.4 1 0 0.0
AN B T R T R AR 32 15| 46.9 31 15|  48.4 1 0 0.0
R P 22 10|  45.5 22 10|  45.5 0 0 0.0
B2 [ L B R A Lo 18 8| 44.4 13 6| 46.2 5 2| 40.0
Hh Rk R R P A 18 8| 44.4 17 8| 47.1 1 0 0.0
(R il - B AL R H A 23 10{ 435 21 10 47.6 2 0 0.0
SR AL S R (st R 24 ) 76 33| 434 56 30| 53.6 20 3l 15.0
BV F 2 @ AL B A 72 31| 43.1 62 31| 50.0 10 0 0.0
PNUE T b e ek N QN ) 14 6| 42.9 8 6| 75.0 6 0 0.0
RMZEb@atLr vy 19 8| 42.1 17 7| 41.2 2 1| 50.0
1L 17 7| 41.2 14 7| 50.0 3 0 0.0
T 12 B A L R R P AR 17 7| 41.2 13 6| 46.2 4 1| 25.0
S N AP o2 | A P 49 20| 40.8 46 18] 39.1 3 2| 66.7
(R R PNES 30 12| 40.0 29 11| 37.9 1 1| 100.0
ZZAEREALR T PR B IR 15 6| 40.0 13 6| 46.2 2 0 0.0
U H e kB P A 23 9| 39.1 15 9] 60.0 8 0 0.0
Y IN= Y NG 31 12| 38.7 22 11| 50.0 9 1l 111
KA 2 =T 4T —F— B 4% 33 12|  36.4 32 11| 34.4 1 1| 100.0
R o ] S PR Tt A B P A 17 6| 35.3 17 6| 35.3 0 0 0.0
T At SR AE R P A 111 39| 35.1 71 35| 49.3 40 4] 10.0
FER LA f AL B P A 55 19| 34,5 53 19 35.8 2 0 0.0
WA 4 AT — AR AL B P A 15 5| 33.3 11 5| 455 4 0 0.0
PN e Y R A i 59 19  32.2 56 18|  32.1 3 1| 333
HETH AR AL R AR 25 8| 32.0 21 7| 33.3 4 1| 25.0
) R 30 9|  30.0 28 9| 32.1 2 0 0.0
75 HARBLHIR 7 47 14| 29.8 42 13| 31.0 5 1| 20.0
WNITTNES T8 NE 62 16| 25.8 59 15|  25.4 3 1| 333
PR IRRAL L Y (AL IR ) 28 6| 21.4 28 6| 21.4 0 0 0.0
B AR AL P A 49 10| 20.4 43 10 23.3 6 0 0.0
A s sl R I e 35 7| 20.0 31 5/ 16.1 4 2| 50.0
AOT[E B E AR P 67 13| 19.4 62 10| 16.1 5 3| 60.0
B A E R AL R L v 17 3| 17.6 17 3| 17.6 0 0 0.0

(221~2524%)
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TRER| OB AR | ZREK| AEK| AR | ZHRER| ARER| Ak

HOAE AR B 5P A 35 6| 17.1 23 6| 26.1 12 0 0.0
Ab R BRAR L B P s 25 4] 16.0 20 4| 20.0 5 0 0.0
IR R ABU AR AL P A% 15 2| 13.3 15 2| 133 0 0 0.0
SO B B AR 19 1 5.3 19 1 5.3 0 0 0.0
ba—~ VT = T R AR 22 1 4.5 22 1 4.5 0 0 0.0
UM E AR — Y B PR 228 41 1 2.4 19 0 0.0 22 1 4.5

(253~258#%)




(2B 10 A AKi)

F AR — M& — %ﬁi —— %i

TRER| OB AR | ZREK| AEK| AR | ZHRER| ARER| Ak

K HH R A =P 2 9 9| 100.0 9 9| 100.0 0 0 0.0
ES [ kL T E 9 9| 100.0 9 9| 100.0 0 0 0.0
KB G AL REFH A% 8 8| 100.0 8 8| 100.0 0 0 0.0
Ve BF A AR R FRHIR 8 8| 100.0 7 7| 100.0 1 1| 100.0
RN B R 8 8| 100.0 8 8| 100.0 0 0 0.0
WK 8 8| 100.0 8 8| 100.0 0 0 0.0
RIS RN S R A AR H A 3 PR L A 7 7| 100.0 6 6| 100.0 1 1| 100.0
fi] [ L RS2 R 7 7| 100.0 7 7| 100.0 0 0 0.0
JUPN Pt fl R 7 7| 100.0 7 7| 100.0 0 0 0.0
B HRIERL 7 7| 100.0 7 7| 100.0 0 0 0.0
R AR R R A AL R P A 7 7| 100.0 7 7| 100.0 0 0 0.0
M A AR P P 7 7| 100.0 7 7| 100.0 0 0 0.0
- R A B 6 6| 100.0 6 6| 100.0 0 0 0.0
=g R ibNes 6 6| 100.0 5 5| 100.0 1 1| 100.0
KIS AE AL HE P AR A3 6 6| 100.0 6 6| 100.0 0 0 0.0
HH AR 6 6| 100.0 6 6| 100.0 0 0 0.0
o E R R 6 6| 100.0 6 6| 100.0 0 0 0.0
HHLER R 6 6| 100.0 6 6| 100.0 0 0 0.0
At kEtE uk e B H P e 6 6| 100.0 6 6| 100.0 0 0 0.0
I EE VRN 6 6| 100.0 6 6| 100.0 0 0 0.0
B P AR A R 5 5/ 100.0 5 5| 100.0 0 0 0.0
HO B R 5 5| 100.0 5 5| 100.0 0 0 0.0
AL R 5 5/ 100.0 5 5| 100.0 0 0 0.0
iAEibNe 5 5| 100.0 5 5| 100.0 0 0 0.0
I EtE AR P AR (I PR E L) 5 5/ 100.0 5 5| 100.0 0 0 0.0
5 5/ 100.0 5 5| 100.0 0 0 0.0

e uf I i o R G R g 4 4] 100.0 4 4| 100.0 0 0 0.0
RIS AL - B & AR — VB Sk 4 4| 100.0 4 4| 100.0 0 0 0.0
KIFFEFCAE e R A AR A o P P RN AL 4 41 100.0 4 41 100.0 0 0 0.0
A= S ERNES 4 4] 100.0 4 4| 100.0 0 0 0.0
P Ly VIE BB R AR AL B A 4 4| 100.0 4 4] 100.0 0 0 0.0
BB L2z - R 3 3| 100.0 3 3| 100.0 0 0 0.0

(1~32%)




R R T "

TRER| OB AR | ZREK| AEK| AR | ZHRER| ARER| Ak

bl NG 3 3| 100.0 3 3| 100.0 0 0 0.0
3 3| 100.0 3 3| 100.0 0 0 0.0

Rl E R R 3 3| 100.0 3 3| 100.0 0 0 0.0
Al R R 3 3| 100.0 3 3| 100.0 0 0 0.0
IRARLIN R T (R BCRHE ML) 3 3| 100.0 3 3| 100.0 0 0 0.0
R SRR AL P AL 2 2| 100.0 2 2| 100.0 0 0 0.0
REA 7 K 2 2| 100.0 2 2| 100.0 0 0 0.0
BT 2 2| 100.0 2 2| 100.0 0 0 0.0
B8 R R R 2 2| 100.0 2 2| 100.0 0 0 0.0
JR ey UK 2 2| 100.0 1 1| 100.0 1 1| 100.0
R R E AR AR B B AR 1 1| 100.0 0 0 0.0 1 1| 100.0
] 2 &b AR AL R P AR 1 1| 100.0 0 0 0.0 1 1| 100.0
A E &L RY 1 1| 100.0 1 1| 100.0 0 0 0.0
Bt b L BR B AR kD B A 1 1| 100.0 0 0 0.0 1 1| 100.0
TN 1 1| 100.0 1 1| 100.0 0 0 0.0
(IR N 1 1| 100.0 1 1| 100.0 0 0 0.0
VK (S (R SR IR A AL ) 1 1{ 100.0 1 1| 100.0 0 0 0.0
o ] At FE L R P 2P AR 1 1| 100.0 0 0 0.0 1 1| 100.0
[E BRI HEF R Ak R 9 8| 88.9 9 8| 88.9 0 0 0.0
FLWSR IS B Al Al b ) B P 2 9 8| 88.9 9 8| 88.9 0 0 0.0
FEILIN R 9 8| 88.9 9 8| 88.9 0 0 0.0
VR o 22 - R 8 7| 875 7 7| 100.0 1 0 0.0
SR B AL R P A (AR ALY 8 7| 875 7 6| 85.7 1 1| 100.0
IRV [E] B R 8 7| 875 7 6| 85.7 1 1| 100.0
R G AR R o 8 7| 875 7 7| 100.0 1 0 0.0
FlR O R 8 7| 87.5 8 7| 875 0 0 0.0
F= E Ak e R R P AR 8 7| 875 8 7| 87.5 0 0 0.0
SLATEAE P 8 7| 875 7 7| 100.0 1 0 0.0
INGIESE NG S 8 7| 875 7 7| 100.0 1 0 0.0
~H = R AL R 8 7| 875 7 7| 100.0 1 0 0.0
K AR AR 8 7| 875 7 6| 85.7 1 1| 100.0
XA AL 7 6| 85.7 6 5/ 83.3 1 1| 100.0

(33~641%)




R R T "

ZRER| Ak E K| AR | 2Rk ok E k| AR | ZRER| oBE%R| A% R
i AL R Y 2 (R B a7 7 6| 85.7 7 6| 85.7 0 0 0.0
R R 7 6| 85.7 7 6| 85.7 0 0 0.0
B EHB AL 7 6| 85.7 7 6| 85.7 0 0 0.0
AR PR R 6 5| 83.3 6 5/ 83.3 0 0 0.0
KIS 2o TR (SR 2t b ) 6 5| 83.3 6 5| 83.3 0 0 0.0
KRIFATR— AR T Ha AL B P 24 6 5| 83.3 5 5| 100.0 1 0 0.0
FAETARN— Y EF R AL 6 5/ 83.3 6 5/ 83.3 0 0 0.0
B [ A PR P AR 6 5| 83.3 6 5/ 83.3 0 0 0.0
PRI i B Y A 9 71 77.8 6 6| 100.0 3 1| 333
B L PE R A A B P AR 8 6| 75.0 7 6| 85.7 1 0 0.0
HAR 22 8 S AR 8 6| 75.0 8 6| 75.0 0 0 0.0
HEaTr Loy 4 3| 75.0 3 3| 100.0 1 0 0.0
A o] [ 9 e 1 K 7 7 5| 71.4 6 5| 83.3 1 0 0.0
EW 4R 6 4| 66.7 5 4| 80.0 1 0 0.0
[E] B = S AL B P AR B AR 3 2| 66.7 3 2| 66.7 0 0 0.0
Ein R AR E B AR 3 2| 66.7 3 2| 66.7 0 0 0.0
RIS AL P BOK AR 5 3 60.0 4 3| 75.0 1 0 0.0
RIFAEN e Y R A ERAE AR PP 5 3| 60.0 5 3 60.0 0 0 0.0
HUR S BT TE R AR AL R P A 5 3] 60.0 3 3| 100.0 2 0 0.0
B EAET [ 5 3| 60.0 1 1| 100.0 4 2| 50.0
T U7 R AL P AR 9 5| 55.6 6 5/ 83.3 3 0 0.0
LI o o B PR SAR 9 5| 55.6 8 5| 62.5 1 0 0.0
it LA P AR 6 3] 50.0 0 0 0.0 6 3] 50.0
KB B A K 2 1| 50.0 0 0 0.0 2 1| 50.0
4t R IE 2 1| 50.0 0 0 0.0 2 1| 50.0
VAGRE S i i e e N 2 1l 50.0 0 0 0.0 2 1| 50.0
V| SEHIA 25 O A V2 R A T il ) 2 1| 50.0 0 0 0.0 2 1| 50.0
VU —Z 8 & AR — Y B 224 2 1| 50.0 1 1| 100.0 1 0 0.0
PRMETE R R AR 9 4| 44.4 9 4| 44.4 0 0 0.0
JIE IE 5 S5 AR AL B P AR 9 4] 44.4 7 4| 57.1 2 0 0.0
BB EEAET R 3 1| 33.3 3 1| 33.3 0 0 0.0
ARG ALY Y — ATy VI 9 2| 222 5 2| 40.0 4 0 0.0

(65~961%)




i R 1
TRER| OB AR | ZREK| AEK| AR | ZHRER| ARER| Ak
AEA AL SR AL RE P AR 1 0 0.0 0 0 0.0 1 0 0.0
O ARIR A8 AL B AR 1 0 0.0 0 0 0.0 1 0 0.0
BT LA P AL 1 0 0.0 0 0 0.0 1 0 0.0
H R R 1 0 0.0 0 0 0.0 1 0 0.0
B TR kB PR A 1 0 0.0 0 0 0.0 1 0 0.0
(97~101#%)

(&5t)

&t 6,542| 4,766 72.9] 5,907 4,595 77.8] 635 171 26.9

(359%%)



5 3 3 [rRg @ pik L [E AR RO SR (G HRIE)
@M — b (R AEE RO ZBRE)

BT IXAAEE (BR2EAA LA S AMESASIA £T) ICAERWET) L U3 dET) )
T o RABOFE, TR (TAMEE (GT24E3H31H) ETIZHREET) LIEETH D,

R EEROIEZRE ) 123, BPAEXBEUSNONERLAT 25250,

2

(ZBrE 10 ANLL ]

e P " "

TRER| OB Ak | ZRER| AR B OkER | ZRER| OBER| SR
fo] L 2= Ak B P AR 50 50{ 100.0 50 50( 100.0 0 0 0.0
SR S PNE & PN S 45 45 100.0 44 44| 100.0 1 1| 100.0
AL TR R R 33 33| 100.0 33 33| 100.0 0 0 0.0
e ] VR N2 R SR R 31 31| 100.0 31 31| 100.0 0 0 0.0
HREREUES L Y (N LR 28 28| 100.0 28 28| 100.0 0 0 0.0
MHRUAE YT — L a AR AL R 25 25| 100.0 24 24| 100.0 1 1| 100.0
KA R 24 24 100.0 24 24 100.0 0 0 0.0
$ 2R R 22 22 100.0 22 22| 100.0 0 0 0.0
R TE AL P AR 22 22 100.0 22 22 100.0 0 0 0.0
FORLYMCA AR LR P A5 22 22 100.0 22 22| 100.0 0 0 0.0
PR A SRR R Y A 21 21 100.0 21 21 100.0 0 0 0.0
& K5 21 21| 100.0 20 20( 100.0 1 1| 100.0
AV AT 7 B Y AR 21 21 100.0 20 20 100.0 1 1| 100.0
BN NES 21 21 100.0 21 21| 100.0 0 0 0.0
A ARk B R 20 20( 100.0 20 20[ 100.0 0 0 0.0
A IR KA LR 7 19 19| 100.0 18 18| 100.0 1 1| 100.0
S| SERS FRNES 19 19| 100.0 19 19| 100.0 0 0 0.0
WEAS T et AL P 19 19| 100.0 19 19| 100.0 0 0 0.0
LR S ENE S 18 18| 100.0 18 18| 100.0 0 0 0.0
+ 3T A R 18 18| 100.0 18 18| 100.0 0 0 0.0
FEHEL IR 18 18| 100.0 18 18| 100.0 0 0 0.0
4l B R R A LR T 2R 18 18| 100.0 18 18| 100.0 0 0 0.0
At o] (2= B R AL P AR 18 18| 100.0 18 18| 100.0 0 0 0.0
HERS R AR P 0 17 17| 100.0 17 17| 100.0 0 0 0.0
0 I IR NT R 17 17| 100.0 17 17| 100.0 0 0 0.0
WIERY: 16 16| 100.0 15 15| 100.0 1 1| 100.0
ER ) PN 16 16| 100.0 16 16| 100.0 0 0 0.0
AAfE SR 16 16| 100.0 16 16| 100.0 0 0 0.0

(1~281%)



F AR — Mé{ — %ﬁi —— %i

TRER| OB AR | ZREK| AEK| AR | ZHRER| ARER| Ak
YMCAKT- R R AL R AL 16 16| 100.0 16 16| 100.0 0 0 0.0
R PR AR E R AL - PR B R (RESAE LAY 15 15 100.0 15 15 100.0 0 0 0.0
NI =7 HLw S U B S 24 15 15| 100.0 15 15| 100.0 0 0 0.0
BRLE 7~ — B R e L B P A 15 15| 100.0 14 14| 100.0 1 1| 100.0
B SHE A R P 2 5 ) 2 p s/ 2 14 14| 100.0 14 14| 100.0 0 0 0.0
RIS 14 14| 100.0 14 14| 100.0 0 0 0.0
JEE I I R PR AR A B P AR 14 14| 100.0 14 14| 100.0 0 0 0.0
s AT AR AL B P A 14 14| 100.0 14 14| 100.0 0 0 0.0
W AR LR 24 (R} 14 14| 100.0 14 14| 100.0 0 0 0.0
A7 R 14 14| 100.0 14 14| 100.0 0 0 0.0
B IR AR AL B A P A 14 14| 100.0 14 14| 100.0 0 0 0.0
FAL PR P78 S P AR 14 14| 100.0 14 14| 100.0 0 0 0.0
R W LR LR AR 14 14| 100.0 14 14| 100.0 0 0 0.0
RIRFEFLAH B EFAEALORE B RSB 13 13| 100.0 13 13| 100.0 0 0 0.0
TR I FE SR AR AR 13 13| 100.0 13 13| 100.0 0 0 0.0
HWNEITHEZ LB E AL AL 13 13| 100.0 13 13| 100.0 0 0 0.0
Hr A R R P AR 13 13| 100.0 13 13| 100.0 0 0 0.0
TEE (L7 R B AR AR R P 13 13| 100.0 13 13| 100.0 0 0 0.0
At He PR R Rt A B P A 13 13| 100.0 13 13| 100.0 0 0 0.0
SRR 13 13| 100.0 13 13| 100.0 0 0 0.0
PRZR N ST PR AR R R 12 12| 100.0 12 12| 100.0 0 0 0.0
REEAREEM TR 12 12| 100.0 12 12| 100.0 0 0 0.0
V=X VT — 7 B G 12 12| 100.0 12 12| 100.0 0 0 0.0
T AT A A 2 LA 12 12| 100.0 12 12| 100.0 0 0 0.0
(IBL RN R 12 12| 100.0 12 12| 100.0 0 0 0.0
A E R R & B L oY 11 11| 100.0 11 11| 100.0 0 0 0.0
T — VIR AR AR 11 11| 100.0 11 11| 100.0 0 0 0.0
R R R 6 A Ak B P 2 T e 11 11| 100.0 11 11| 100.0 0 0 0.0
) RF 122 9 S 1) K 77 11 11| 100.0 11 11| 100.0 0 0 0.0
IR 11 11| 100.0 11 11| 100.0 0 0 0.0
T A AL B P A 11 11| 100.0 11 11| 100.0 0 0 0.0
Lo i ak B A 11 11| 100.0 11 11| 100.0 0 0 0.0

(29~601%)




F AR — M& — %ﬁi —— %i

TRER| OB AR | ZREK| AEK| AR | ZHRER| ARER| Ak
IAAR [ AR AL R P AR 11 11| 100.0 11 11| 100.0 0 0 0.0
HEBARY 11 11| 100.0 11 11| 100.0 0 0 0.0
KB ft Fe i fab A K 10 10| 100.0 10 10| 100.0 0 0 0.0
EBE IR T MR 10 10[ 100.0 10 10{ 100.0 0 0 0.0
R VANT 7— K7 10 10| 100.0 10 10| 100.0 0 0 0.0
REFR A R MR 10 10| 100.0 10 10{ 100.0 0 0 0.0
NP AR R AR 10 10| 100.0 9 9| 100.0 1 1| 100.0
B SPNES 10 10| 100.0 10 10| 100.0 0 0 0.0
[EIIFSE N 35 34| 971 33 33| 100.0 2 1|  50.0
B PR AR 27 34 33 97.1 30 30[ 100.0 4 3| 75.0
TV 7 E RN AL 31 30 96.8 31 30 96.8 0 0 0.0
H AR AL IR 57 A LR P 22 31 30/ 96.8 30 30/ 100.0 1 0 0.0
5 B AL B A 30 29| 96.7 29 29[ 100.0 1 0 0.0
HAbE LR 25 24| 96.0 25 24| 96.0 0 0 0.0
LR = Rl T A AL B P A 22 21| 95.5 21 21 100.0 1 0 0.0
A A HEAE S 2R (sl ta 2R 22 21| 95.5 20 20| 100.0 2 1| 50.0
R e [ 7 B0l T e A B P A 21 20[  95.2 20 20[ 100.0 1 0 0.0
H A AL TR (F— S b+ T ) 21 20| 95.2 19 19| 100.0 2 1| 50.0
IR B il T M 7 P S R e 20 19|  95.0 20 19| 95.0 0 0 0.0
SR AR P AR 20 19|  95.0 20 19]  95.0 0 0 0.0
R B ] B Ak B PR A 19 18|  94.7 18 18| 100.0 1 0 0.0
Ve KA N R 73 19 18|  94.7 18 18| 100.0 1 0 0.0
BAVE A R P 18 17| 94.4 18 17| 94.4 0 0 0.0
S Bt SR e R P AR 17 16| 94.1 16 16| 100.0 1 0 0.0
FRAE BB AL B R (— S e VT —J1—F) 16 15 93.8 15 15/ 100.0 1 0 0.0
DU ] R 7 16 15| 93.8 14 14| 100.0 2 1|  50.0
Bt Efm kiR B R A 31 29|  93.5 31 29| 93.5 0 0 0.0
IRE IR R R 15 14| 93.3 14 14| 100.0 1 0 0.0
BB ER AR 28 26| 92.9 26 26 100.0 2 0 0.0
AR IR T (i@ a7 R 28 26/ 92.9 28 26| 92.9 0 0 0.0
PNTUNEF NS 14 13| 92.9 12 11| 91.7 2 2| 100.0
(BN S PNE PR NS St 14 13| 92.9 13 12| 923 1 1| 100.0

(61~924%)




R R T "

TRER| OB AR | ZREK| AEK| AR | ZHRER| ARER| Ak
B T NES 14 13| 92.9 13 13| 100.0 1 0 0.0
RIS E AR AR 14 13| 92.9 13 13| 100.0 1 0 0.0
IGL R AR AL P A 13 12| 92.3 13 12| 923 0 0 0.0
JEE IR B E R R 13 12| 92.3 12 11| 91.7 1 1| 100.0
YR N 13 12| 92.3 13 12| 923 0 0 0.0
TR B G A8 K B PR 2 (R 23 AR AR 13 12| 92.3 13 12| 92.3 0 0 0.0
B Wiy o R R 25 23| 92.0 24 23| 95.8 1 0 0.0
WS E AR AL B SRR 36 33 91.7 31 31| 100.0 5 2| 40.0
EIPNEY R N 12 11 91.7 11 10/ 90.9 1 1| 100.0
AR AEAERE T A2 12 11| 91.7 11 11| 100.0 1 0 0.0
FIE A AL B 2 (3l 7)) 12 11| 91.7 10 10| 100.0 2 1| 50.0
HOE AR 12 11| 917 12 11| 917 0 0 0.0
R IR 12 11| 91.7 10 10| 100.0 2 1| 50.0
Tk 2 o 28R B P A 35 32| 91.4 31 30 96.8 4 2| 50.0
oL AT AR AL 7 50 23 21| 91.3 20 19| 95.0 3 2| 66.7
B VG A R AR AL B 33 30[  90.9 31 30  96.8 2 0 0.0
T R AR 22 20 90.9 21 201 95.2 1 0 0.0
JEJ IR R 11 10 90.9 10 10| 100.0 1 0 0.0
JEB I I AR AT R P A 11 10| 90.9 9 9| 100.0 2 1| 50.0
TR AL P A 11 10 90.9 9 9| 100.0 2 1| 50.0
] o R Y T NE 2 11 10| 90.9 9 9| 100.0 2 1| 50.0
B (INESSE P NE 11 10 90.9 11 10/ 90.9 0 0 0.0
IR R EH B2 21 19  90.5 19 18| 94.7 2 1| 50.0
JUNHF R AT — a2 20 18] 90.0 18 17 94.4 2 1| 50.0
YICH i@ AR P A 20 18] 90.0 19 18| 94.7 1 0 0.0
RELA KT 10 9|  90.0 10 9 90.0 0 0 0.0
KIFARB PR AL T AL AR A 10 9] 90.0 10 9]  90.0 0 0 0.0
SUMN RS IR (B RH@ AL ) 10 9] 90.0 10 9]  90.0 0 0 0.0
{E M AR — B IR AL RE P AR 29 26/  89.7 23 23| 100.0 6 3| 50.0
HUORAR R K AR R B B AR 38 34|  89.5 36 33 91.7 2 1| 50.0
7 AR AL R AR 28 25| 89.3 25 23| 92.0 3 2| 66.7
AEHRE ST 3 fE LA 18 16| 88.9 16 16| 100.0 2 0 0.0

(93~1241%)




i R 1

TRER| OB AR | ZREK| AEK| AR | ZHRER| ARER| Ak
& B A MR R P A 26 23| 88.5 23 22| 95.7 3 1| 333
Bt ot BE L AR AL B A 26 23|  88.5 24 23| 95.8 2 0 0.0
[ I K7 17 15| 88.2 14 12| 85.7 3 3| 100.0
4 B ELR 25 22| 88.0 23 21| 91.3 2 1| 50.0
& B R k= P AR 16 14| 87.5 14 14| 100.0 2 0 0.0
SRR AL R S (St R 34 ) 31 27| 87.1 28 27| 96.4 3 0 0.0
JR s AL P A (T @ AR 23 20{  87.0 20 20{ 100.0 3 0 0.0
AR ] A R 15 13| 86.7 13 13| 100.0 2 0 0.0
R 2 A A A P AR B 15 13| 86.7 13 13| 100.0 2 0 0.0
)R 15 13| 86.7 13 13| 100.0 2 0 0.0
HOLM B R 15 13| 86.7 13 11| 84.6 2 2| 100.0
R R B PR A MR P R (sl £ ) 15 13| 86.7 14 13 92.9 1 0 0.0
HTFH 18 kO 7 B8 A 37 32|  86.5 34 31 91.2 3 1| 333
R 8 AR A B P A At 22 19| 86.4 19 19| 100.0 3 0 0.0
BB AE AL R P AL 43 37| 86.0 41 37 90.2 2 0 0.0
T] Ji A A R P AR 21 18| 85.7 20 18] 90.0 1 0 0.0
[ bR 21 18| 85.7 20 18] 90.0 1 0 0.0
PEEEYMCA E Bk 21 18| 85.7 19 18| 94.7 2 0 0.0
WHH)F KT 14 12|  85.7 13 11| 84.6 1 1| 100.0
TH: FH A A B P A 14 12| 85.7 14 12| 85.7 0 0 0.0
PR AL 1 A1k PR R (R 14 12 85.7 14 12 85.7 0 0 0.0
VR 5 R e B P AR 27 23| 85.2 26 22|  84.6 1 1| 100.0
BHER 7L B a3 E M AR 20 17| 85.0 16 16| 100.0 4 1| 25.0
B AN 7 — K e LR P 2 26 22|  84.6 22 22| 100.0 4 0 0.0
AR P AR 13 11| 84.6 12 11| 91.7 1 0 0.0
R [ A R R PR s 13 11| 84.6 11 11| 100.0 2 0 0.0
HARA O R EHK 19 16| 84.2 16 14| 875 3 2| 66.7
FRR LA 1@ AL B A 19 16| 84.2 18 16| 88.9 1 0 0.0
R P ft fk P A% 43 36| 83.7 34 321 94.1 9 4| 44.4
SRR P2 (1t ik 2 4R 18 15| 83.3 18 15|  83.3 0 0 0.0
FIR SN NE Y TR e 18 15| 83.3 15 13| 86.7 3 2| 66.7
T 7 I— R AR 12 10 83.3 10 10| 100.0 2 0 0.0

(125~1564%)




R R T "

TRER| OB AR | ZREK| AEK| AR | ZHRER| ARER| Ak

H - FE KT 12 10| 83.3 11 9| 81.8 1 1| 100.0
T B AL R A 12 10 83.3 11 9| 81.8 1 1| 100.0
HE AR AL R T R B P AL 12 10 83.3 10 10| 100.0 2 0 0.0
[EPIR AN 52 N 12 10| 83.3 8 8| 100.0 4 2| 50.0
JEREE O Rk A E AL R P AR 12 10 83.3 11 10/ 90.9 1 0 0.0
TR )R BB O AR 4 41 34/ 82.9 33 30| 90.9 8 4] 50.0
) AR AR P A 23 19| 82.6 23 19| 82.6 0 0 0.0
AR R 11 9] 81.8 10 8|  80.0 1 1| 100.0
46 A AR E LR AR 11 9| 81.8 10 9  90.0 1 0 0.0
LAEABA TR 11 9| 81.8 10 9]  90.0 1 0 0.0
<HLEHE AL R 27 22|  81.5 22 18| 81.8 5 4] 80.0
REPH PR R A AL E R T L 16 13| 81.3 16 13| 813 0 0 0.0
OO BE R PRI 5 16 13| 813 14 12| 85.7 2 1| 50.0
SR AT R AL P AR 21 17|  81.0 19 16| 84.2 2 1| 50.0
NI=TFA AL I i AR AL R P 7 35 28| 80.0 28 25| 89.3 7 3| 42.9
6 o] [ R AR AR — > B A 30 24| 80.0 26 23| 88.5 4 1| 25.0
AL R AR P 15 12| 80.0 12 11| 91.7 3 1| 333
I B A R 15 12| 80.0 12 12| 100.0 3 0 0.0
R/ A TP 2 B 2 (O S ) 10 8|  80.0 9 8| 88.9 1 0 0.0
IR AEOR B P AR 10 8| 80.0 10 8| 80.0 0 0 0.0
U ANE YT — = Aa ik A 10 8|  80.0 7 7| 100.0 3 1| 333
VU [l 52 R A7 B A 10 8| 80.0 8 8| 100.0 2 0 0.0
EZEbEaL >y 10 8| 80.0 8 7| 87.5 2 1l 50.0
e [ 1 3 A R R P AR 10 8| 80.0 8 6| 75.0 2 2| 100.0
19 15| 78.9 19 15| 78.9 0 0 0.0

FES AL UL R AR 14 11| 78.6 11 10/ 90.9 3 1| 33.3
B I PR AR AR R P AR 14 11| 78.6 12 11| 91.7 2 0 0.0
JE 4 ik B P A5 27 21| 77.8 23 20|  87.0 4 1| 25.0
YMCAfEFEEAE S P AL 18 14| 778 12 11| 91.7 6 3| 50.0
SR RS LR AR 39 30{ 76.9 33 28|  84.8 6 2| 333
PN T R Y IR A =i 21 16| 76.2 18 15| 83.3 3 1| 333
DAAUTRREALEE P A2 21 16| 76.2 19 16| 84.2 2 0 0.0

(157~188%%)




F AR — Mé{ — %ﬁi —— %i

TRER| OB AR | ZREK| AEK| AR | ZHRER| ARER| Ak
U A AR R P s 12 9 75.0 9 9| 100.0 3 0 0.0
AL AL R B P A 12 9]  75.0 10 9]  90.0 2 0 0.0
RN ] R St AL B P A 19 14|  73.7 14 13| 92.9 5 1| 20.0
AN A 22 16| 72.7 19 16| 84.2 3 0 0.0
PR E R AR AR 11 8| 72.7 8 6| 75.0 3 2| 66.7
HOR IR E R ALY A 11 8| 72.7 10 8| 80.0 1 0 0.0
A L B 7 P A 21 15|  71.4 17 14| 824 4 1| 25.0
Bl YAy IR AR i 40 28 70.0 36 27| 75.0 4 1| 25.0
S HETEEAEE P AL 20 14| 70.0 17 13| 76.5 3 1| 333
FH [l AT 7 K 26 18|  69.2 18 15| 83.3 8 3| 375
PAN Y R A e I QTERE Y 4 13 9] 69.2 9 9| 100.0 4 0 0.0
BAVE R B @ AL R AR 16 11| 68.8 12 11| 917 4 0 0.0
75 H AR T 15 10|  66.7 11 9| 81.8 4 1| 25.0
i FH L H R o7 12 8| 66.7 11 8| 727 1 0 0.0
FIR R B R P AL 17 11| 64.7 12 9]  75.0 5 2| 40.0
RERS 73— AR LR P 2R 14 9| 64.3 12 9| 75.0 2 0 0.0
DL [T [ A U B P s 16 10|  62.5 11 7| 63.6 5 3] 60.0
Z AR R RN 34 21|  61.8 31 21| 67.7 3 0 0.0
R AL R P A 47 29|  61.7 37 28| 75.7 10 1l 10.0
AR e =T 2 IR AL R 18 10| 55.6 16 10| 62.5 2 0 0.0
TUN KRB FLIAR T (@A EE) 11 6| 54.5 7 6| 85.7 4 0 0.0
B R E R @ A Lo 12 6| 50.0 9 4| 44.4 3 2| 66.7
NN 8 Nl 10 5/ 50.0 10 5/ 50.0 0 0 0.0
PNUE T E st PN QN e T2 2h) 14 6| 42.9 8 6| 75.0 6 0 0.0

(189~2121)




(2B 10 A AKi)

F AR — M& — %ﬁi —— %i

TRER| OB AR | ZREK| AEK| AR | ZHRER| ARER| Ak
DY MLC A [ 5 25 Al P 2 9 9| 100.0 9 9| 100.0 0 0 0.0
NN S A i 9 9| 100.0 9 9| 100.0 0 0 0.0
IR REI TR S R AR AL ( 75 R P 4 FPRFG 9 9 100.0 9 9 100.0 0 0 0.0
EERCES @A > 9 9| 100.0 9 9| 100.0 0 0 0.0
ik I [EI B bk B FH A% 9 9| 100.0 9 9| 100.0 0 0 0.0
RIS G R P AL 8 8| 100.0 8 8| 100.0 0 0 0.0
(AR NNE TR NS 8 8| 100.0 7 7| 100.0 1 1| 100.0
B REE RS 8 8| 100.0 8 8| 100.0 0 0 0.0
FH J5 T 32 P S A B P A 8 8| 100.0 8 8| 100.0 0 0 0.0
R 8 8| 100.0 8 8| 100.0 0 0 0.0
PFEIUIN R 8 8| 100.0 8 8| 100.0 0 0 0.0
KR AR T P AR 8 8| 100.0 8 8| 100.0 0 0 0.0
RIFRE B S S A B R B P R L 7 7| 100.0 6 6| 100.0 1 1| 100.0
fi] [ LT RS2 R 7 7| 100.0 7 7| 100.0 0 0 0.0
JUIN PrEtEfl R 7 7| 100.0 7 7| 100.0 0 0 0.0
B HRIERL 7 7| 100.0 7 7| 100.0 0 0 0.0
B R R R A AL R P A 7 7| 100.0 7 7| 100.0 0 0 0.0
IRV [E]BR R 7 7| 100.0 6 6| 100.0 1 1| 100.0
B2 T Y AR 7 7| 100.0 7 7| 100.0 0 0 0.0
R WA AR P P 7 7| 100.0 7 7| 100.0 0 0 0.0
AEHRE AR LB P AR 7 7| 100.0 6 6| 100.0 1 1| 100.0
N H T R R Al B A 7 7| 100.0 7 7| 100.0 0 0 0.0
BRI AR R AR 7 7| 100.0 7 7| 100.0 0 0 0.0
TR R 6 6| 100.0 5 5| 100.0 1 1| 100.0
RINE EFRAEE T 2 6 6| 100.0 6 6| 100.0 0 0 0.0
RIS @ A B P AR K 5388 6 6| 100.0 6 6| 100.0 0 0 0.0
JEE YRI5 2 LR 6 6| 100.0 6 6| 100.0 0 0 0.0
HHR R 6 6| 100.0 6 6| 100.0 0 0 0.0
o EE R T 6 6| 100.0 6 6| 100.0 0 0 0.0
I BE R S R 6 6| 100.0 6 6| 100.0 0 0 0.0
HHER R 6 6| 100.0 6 6| 100.0 0 0 0.0
AR tE AR E S M T 6 6| 100.0 6 6| 100.0 0 0 0.0

(1~32%)




F AR — %& — %ﬂ —— %i
TRER| OB AR | ZREK| AEK| AR | ZHRER| ARER| Ak
IIRER VSR PN 6 6| 100.0 6 6| 100.0 0 0 0.0
KRIFATR— AR T H AL B P 24 5 5| 100.0 5 5| 100.0 0 0 0.0
HETH E R AR RE P AR 5 5| 100.0 4 4| 100.0 1 1| 100.0
B @ AR R 5 5/ 100.0 5 5| 100.0 0 0 0.0
HAE ST b R 5 5| 100.0 5 5/ 100.0 0 0 0.0
fEEIR 5 5 100.0 5 5/ 100.0 0 0 0.0
IR B @A P e (IR B ) 5 5/ 100.0 5 5/ 100.0 0 0 0.0
5 5| 100.0 5 5/ 100.0 0 0 0.0
b AR AR B R 4 4| 100.0 4 4| 100.0 0 0 0.0
Koy itk B 4% 4 4| 100.0 4 4| 100.0 0 0 0.0
KIS L - B & AR — Y B2 4 4| 100.0 4 4] 100.0 0 0 0.0
R e B B P S KM PR S 4 4| 100.0 4 4] 100.0 0 0 0.0
KRR [ A i B 25 s i 52 4 4| 100.0 4 4] 100.0 0 0 0.0
RIFEERN L YRR B AL P R AR 4 4| 100.0 4 4| 100.0 0 0 0.0
JUN B AL R T 4 4| 100.0 4 4| 100.0 0 0 0.0
FATY MCA E B Ak 5 P 22 4 4| 100.0 4 4| 100.0 0 0 0.0
P Ly VIE B AR AL B A 4 4| 100.0 4 4| 100.0 0 0 0.0
WA 4 AT — AR AL B P A 4 4| 100.0 4 4| 100.0 0 0 0.0
B2 [ e R A Lo 4 4| 100.0 3 3| 100.0 1 1| 100.0
HO B R 4 4| 100.0 4 4| 100.0 0 0 0.0
PR il - bR R E AL 4 4| 100.0 4 4] 100.0 0 0 0.0
TR N 3 3| 100<ns1:XMLFault xmlns:ns1="http://cxf.apache.org/bindings/xformat"><ns1:faultstring xmlns:ns1="http://cxf.apache.org/bindings/xformat">java.lang.OutOfMemoryError: Java heap space</ns1:faultstring></ns1:XMLFault>